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1. Prove that the measure of an angle formed by a secant and a tangent drawn from a point outside the
circle is half the difference of the measure of the intercepted arcs.

~ o~

2. AABC isinscribed in a circle and AB = AC . Prove that AABC is isosceles.

3. Construct several pairs of intersecting tangents to a circle. Measure the central angle formed by the radii
and the angle at the point of intersection of the tangents. What appears to be true? Can you prove it?



Geometry Practice G.SRT.B.5: Circle Proofs Page 1

WWW.jmap.org

[1] Check students' proofs; the proof is similar to the case of two secants.

Students should state that since £/B and ZC intercept equal arcs and are equal to half the measure of
[2] those arcs, they are congruent. Thus the triangle is isosceles by the definition of isosceles triangles.

The angles appear to be supplementary. Yes, in the quadrilateral formed by the tangents and the radii,
the two angles at which the radii intersect the tangents measure 90°, so the remaining pair must be
[3] supplementary.




